

A quote for your consideration!

Total: \$41,200.96

Based on your business needs, we put the following quote together to help with your purchase decision. Please review your quote details below, then contact your sales rep when you're ready to place your order.

Quote number: 1015122377762.1	Quote date: Dec. 19, 2018	Quote expiration: Jan. 29, 2019
Company name:	Customer number:	Phone:
CITY OF SAN MARCOS	53576	(512) 393-8112
Sales rep information:	Billing Information:	
Michael Villa Jr. Michael_Villa_Jr@DellTeam.com (800) 456-3355 Ext: 80000	CITY OF SAN MARCOS 630 E HOPKINS ST SAN MARCOS TX 78666-6314 US (512) 393-8112	

Pricing Summary

Item	Qty	Unit Price	Subtotal
VLA VMWARE PROD SUP HORIZ VIEW STD 100PK CCU 1YR	2	\$6,166.93	\$12,333.86
VLA VMWARE PROD SUP/SUB VCENTER SERVER 6 STANDARD FOR VSPHERE 6 1YR	2	\$1,478.99	\$2,957.98
VLA VMWARE PROD SUP/SUB VSPHERE 6 ENT PLUS FOR 1 PROC FOR 1YR	28	\$837.20	\$23,441.60
VLA VMWARE PROD SUP HORIZ VIEW STD 10PK CCU 1YR	4	\$616.88	\$2,467.52
		Subtotal:	\$41,200.96
	_	Shipping:	\$0.00
	Env	rironmental Fees:	\$0.00
	Non-	Taxable Amount:	\$0.00
		Taxable Amount:	\$0.00
		Estimated Tax:	\$0.00
		Total:	\$41,200.96

Special lease pricing may be available for qualified customers. Please contact your DFS Sales Representative for details.

Dear Customer,

Your Quote is detailed below; please review the quote for product and information accuracy. If you find errors or desire certain changes please contact me as soon as possible.

Regards,

Michael Villa Jr.

Order this quote easily online through your Premier page, or if you do not have Premier, using Quote to Order

Shipping Group 1

Shipping Conta KAYLA LAMM	ct: Shipping phone: (512) 393-8124	Shipping via: Not available		Shipping Addr CITY OF SAN M 630 E HOPKINS SAN MARCOS TX 78666-6314 US	ARCOS
SKU	Description		Qty	Unit Price	Subtotal
	VLA VMWARE PROD SUP HORIZ VIEW STD 1 Contract No: 75AHH Customer Agreement No: DIR-TSO-3763	100PK CCU 1YR	2	\$6,166.93	\$12,333.86
AA464244	VLA VMWARE PROD SUP HORIZ VIEW STD 100PK CCU 1YR			-	-
	Description		Qty	Unit Price	Subtotal
	VLA VMWARE PROD SUP/SUB VCENTER SEF FOR VSPHERE 6 1YR	RVER 6 STANDARD	2	\$1,478.99	\$2,957.98
	Contract No: 75AHH Customer Agreement No: DIR-TSO-3763				
AA461315	VLA VMWARE PROD SUP/SUB VCENTER S FOR VSPHERE 6 1YR	SERVER 6 STANDARD	2	-	-
SKU	Description		Qty	Unit Price	Subtotal
	VLA VMWARE PROD SUP/SUB VSPHERE 6 E FOR 1YR	NT PLUS FOR 1 PROC	28	\$837.20	\$23,441.60
	Contract No: 75AHH Customer Agreement No: DIR-TSO-3763				
AA461308	VLA VMWARE PROD SUP/SUB VSPHERE 6 PROC FOR 1YR	ENT PLUS FOR 1	28	-	-
SKU	Description		Qty	Unit Price	Subtotal
	VLA VMWARE PROD SUP HORIZ VIEW STD 1 Contract No: 75AHH Customer Agreement No: DIR-TSO-3763	IOPK CCU 1YR	4	\$616.88	\$2,467.52
AA464245	VLA VMWARE PROD SUP HORIZ VIEW ST	D 10PK CCU 1YR	4	-	-

Subtotal: \$41,200.96
Shipping: \$0.00
Environmental Fees: \$0.00
Estimated Tax: \$0.00

Total: \$41,200.96

Unless you have a separate written agreement that specifically applies to this order, your order is subject to Dell's Terms of Sale (for consumers the terms include a binding arbitration provision). Please see the legal disclaimers below for further information.

Important Notes

Terms of Sale

Unless you have a separate written agreement that specifically applies to this order, your order will be subject to and governed by the following agreements, each of which are incorporated herein by reference and available in hardcopy from Dell at your request: Dell's Terms of Sale (www.dell.com/learn/us/en/uscorp1/terms-of-sale), which include a binding consumer arbitration provision and incorporate Dell's U.S. Return Policy (www.dell.com/returnpolicy) and Warranty (for Consumer warranties; for Commercial warranties).

If this purchase includes services: in addition to the foregoing applicable terms, the terms of your service contract will apply (Consumer; Commercial). If this purchase includes software: in addition to the foregoing applicable terms, your use of the software is subject to the license terms accompanying the software, and in the absence of such terms, then use of the Dell-branded application software is subject to the Dell End User License Agreement - Type A (www.dell.com/AEULA) and use of the Dell-branded system software is subject to the Dell End User License Agreement - Type S (www.dell.com/SEULA).

If your purchase is for Mozy, in addition to the foregoing applicable terms, your use of the Mozy service is subject to the terms and conditions located at https://mozy.com/about/legal/terms.

If your purchase is for Boomi services or support, your use of the Boomi Services (and related professional service) is subject to the terms and conditions located at https://boomi.com/msa.

If this purchase is for (a) a storage product identified in the DELL EMC Satisfaction Guarantee Terms and Conditions located at

http://www.emc.com/collateral/sales/dellemc-satisfaction-guarantee-terms-and-conditions_ex-gc.pdf("Satisfaction Guarantee") and (ii) three (3) years of a ProSupport Service for such storage product, in addition to the foregoing applicable terms, such storage product is subject to the Satisfaction Guarantee.

You acknowledge having read and agree to be bound by the foregoing applicable terms in their entirety. Any terms and conditions set forth in your purchase order or any other correspondence that are in addition to, inconsistent or in conflict with, the foregoing applicable online terms will be of no force or effect unless specifically agreed to in a writing signed by Dell that expressly references such terms.

Pricing, Taxes, and Additional Information

All product, pricing, and other information is valid for U.S. customers and U.S. addresses only, and is based on the latest information available and may be subject to change. Dell reserves the right to cancel quotes and orders arising from pricing or other errors. Please indicate any tax-exempt status on your PO, and fax your exemption certificate, including your Customer Number, to the Dell Tax Department at 800-433-9023. Please ensure that your tax-exemption certificate reflects the correct Dell entity name: **Dell Marketing L.P.**

Note: All tax quoted above is an estimate; final taxes will be listed on the invoice.

If you have any questions regarding tax please send an e-mail to Tax_Department@dell.com.

For certain products shipped to end-users in California, a State Environmental Fee will be applied to your invoice. Dell encourages customers to dispose of electronic equipment properly.